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THE WORLD SKATEBOARDING CHAMPIONSHIPS

The city of Olliesville has been chosen to host this year's World Skateboarding Championships.

A

An event of this magnitude involves many costs, which include:
¢+ purchasing a full-pipe
+ constructing and painting the ramp and the half-pipe
+ constructing a spectator area
+ purchasing a giant video screen

The money generated from ticket sales will serve as the budget to cover all the costs of the
championships.

Your task is to determine a possible measure for the diagonal of the giant video
screen, while respecting the budget and costs.

TICKET SALES

The organizing committee’s budget, used to cover all costs, will be based on an estimate of the
number of tickets that will be sold during the championships.

To determine this estimate, the committee will use the median number of tickets sold from the
eight previous championships, which are shown in the table below. )

NUMBER OF TICKETS SOLD IN THE 8 PREVIOUS CHAMPIONSHIPS
16 000 l 35000 ‘ 22 500 ‘ 8600 ‘ 32000 ' 14 000 ‘ 17 500 ' 12 000

The price per ticket is $18.

THE FULL-PIPE

Two companies have offered their services to design and build the full-pipe based on volume.
For the size of the full-pipe needed, the cost is the same for both companies.
COMPANY A COMPANY B

PURCHASE OF A FULL-PIPE
Company A charges $30 per m®

7 ¥ Tot
and an initial design fee of $26 750. cgs?l($)“
31750
10 750
0 60 Volume (m°)
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WoRLD CLASS RAMPS

The company World Class Ramps will be constructing the ramp and the half-pipe, and painting
the skateboarding surfaces of both.

The table below represents the cost of concrete according to volume.

The cost of a protective paint can depend on its colour. A full can of paint covers up to 60 m?.

COST OF CONCRETE COST OF PROTECTIVE PAINT
VOLUME OF PAINT COLOUR  COST PER CAN ($)
CONCRETE (m®) CosT (%) . o0
25 4125 Blue 130.
40 6600 Red 136.25
> THE RAMP

The ramp, composed of one rectangular-based prism and two congruent triangular-based
prisms, will be made out of concrete.

The skateboarding surfaces (shaded areas) will be covered with a coat of blue protective paint.

26®

> THE HALF-PIPE

The half-pipe will be made out of concrete. Its shape can best be described as a large
rectangular prism from which a smaller rectangular prism (in the middle) and two quarter-
cylinders (one on either side) have been removed.

The skateboarding surfaces (shaded areas) will be covered with a coat of red protective paint.
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SPECTATOR AREA
The spectator area will be divided into the three sections: bronze, gold, and silver.

The sum of the areas of the bronze and gold sections is equal to the area of the silver section.

GoLp
A=(2¢ +x)m?

BRONZE
A= (16x—24) m*

SILVER
(x+4)m

H————— (2x + 3) M |
The cost of constructing the spectator area is $500 per square metre.
GIANT VIDEO SCREEN
With any money that is left after the full-pipe, ramp, half-pipe and spectator area costs, the

organizing committee will purchase a giant video screen to display the live action at the event.

As shown in the table below, the cost of

GIANT VIDEQ SCREEN a video screen depends on its height.
e HEIGHT COST OF THE
Height (metres) VIDEO SCREEN ($)
[2,4] 30 000
> [4,6] 60 000
[6,8] 120 000
+ The base of the video screen measures 7 metres. [8.10[ 180 000

Your task is to determine a possible measure for the diagonal of the giant video
screen, while respecting the budget and costs.
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The World Skateboardlng Champuonshlps

Show all your work.
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Show all your work.

Treket Sollon:

Faordos, &3“""»

8600 ~ 12000 - 14000 - [LOOD ;\?SOO— 22500 — 32000~ 2S00

MA:

leooor \2200. - {4750 tckib
=y
13
Budgdk = 1b7e0(8) = T 201 Soo
CMY\F@JN&'!%-'
Jn FHO o= 3175610700 = 2/000 -35
| 1S Zo
S ITFED b= FBo
de = 2H0 % £ 1DTIO
4a= de

s
Sa.rmb Lozl

2o 4T

o OO0 =
5o =
Yoz 260207 + 2
= ALKISD

ot
@Ns é’g\ 4@%

%

Gy = 35D ";a’_,»HD?BO
3201

(DR )

~ — 250 (503} +HOTSD
"'FEDQ 56’ BDO K‘ﬁo\j'@— 7
= DRSO

$ 2WHSD

Secondary 3
Competency 1, Answer Bo!

oklet

WQSB, June 2018
Page 3



>’W\2

o=

712

Show all your work.
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Show all your work.
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Show all your work.
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Use the table below if needed.

CosT ($) )
FuLL-PPE 2% 250
e £ 1400
HaLF-PE L3 3. W
SPECTATOR AREA V50 000D
Torat 332 101.9
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